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Time: 3 hours                          Mathematics- II                          Max Marks: 70 

Note: This question paper contains of 5 sections. Answer five questions, choosing one question    

            from each section and each question carries 14 marks.  
 

Section-I 

1. a) Prove that ∆= ଵଶ 𝛿ଶ + 𝛿√1 + 𝛿2ସ                                                                   [4M] 

      b) Find the unique polynomial P(x) of degree 2 or less such that P(1) = 1, P(3) = 27,  

          P(4) = 64 using Lagrange interpolation formula                                                               [10M] 

                                              

                                                                                OR 

2. a) Use Gauss forward interpolation formulae to find f(22) from the following      [7M] 

x 20 25 30 35 40 45 

F(x) 354 332 291 260 231 204 

 

       b) By the fixed point iteration process, find the root correct to 3-decimal places, of the  

             equation 3x = cosx+1                                                                                                                 [7M] 

 

Section-II 

3. a)  By the method of least squares, find the straight line that best fits the following  

     data [7M] 

x 0 5 10 15 20 25 

F(x) 12 15 17 22 24 30 

 

       b) Evaluate ∫ 𝜋଴ݔ݀ ݔ𝑖𝑛ݏ  by dividing the range into 6 equal parts using  

           (i) Trapezoidal rule                              (ii) Simpson’s 1/3rd rule                                         [7M] 

 

OR 

4. a) Find the Solution of 
ௗ௬ௗ௫ = ݔ −   y(0) = 1 at x=0.1,0.2 using modified Euler’s ,ݕ

      method.              [5M] 

       b) Evaluate ∫ ଵଵ+௫ଵ଴  by Simpson’s 1/3rd and 3/8th rule                                                      [4M] ݔ݀

       c) Given that y’ = y – x , y(0)=2 find y(0.2) using Runge -Kutta 4th order            [5M]                      

 

Section-III 

5. a) Find the Fourier series representing f(x) = x , 0 < x < 2𝜋                                    [5M] 

       b) Obtain the Fourier Cosine Series for f(x) = x sinx, 0 < x <  𝜋  and show that  

                
ଵଵ.ଷ − ଵଷ.ହ + ଵହ.7 +  … … =  𝜋−ଶସ               [9M]                                            

OR 

 



6. a) Find the Fourier series of periodicity 3 for  f(x) = 2x-x2 in 0 < x < 3                            [7M] 

b) Express f(x) = x as a half-range cosine series in the interval 0 < x < 2                        [7M] 

 

Section-IV 

7. a) Solve the partial differential equation p√ݔ + 𝑞√ݕ =  [4M]                         ݖ√ 

       b)  Solve z(p2-q2) = x – y                                                    [4M] 

       c) Solve by the method of separation of variables 2xzx – 3yzy = 0              [6M] 

 

OR 

8. a) Solve z2 = pqxy by charpit’s method                                      [7M] 

       b) Solve p2+q2 = x2+y2                                                                                  [7M] 

               

Section-V 

9. a)  Find the Laplace transform of ݁ଷ௧ - 2݁−ଶ௧ + sin2t + cos3t + sinht - 2cosh3t + 8    [4M] 

       b)  Using Laplace transform, evaluate ∫ ௧∞଴−݁ݐ  [10M]                                                         ݐ݀ݐ𝑖𝑛ݏ

                 

OR 

10. a) Find inverse Laplace transform of  ହ௦−ଶ௦2ሺ௦+ଶሻሺ௦−ଵሻ                                           [4M]     

b) Find L{∫ ௧௧଴−݁ݐ  [6M]                                                                              {ݐ݀ݐ𝑖𝑛4ݏ

       c)  Find the inverse Laplace transform of  ௘−𝜋ሺ𝑠+2ሻ௦+ଶ                                             [4M] 
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Note: This question paper contains of 5 sections. Answer five questions, choosing one question    

            from each section and each question carries 14 marks.  
 

Section-I 

1. a) Explain Regula-Falsi method geometrically.                                                      [4M] 

       b) Using Lagrange’s interpolation formula, find y(10) from the following table            [10M] 

    

 

OR 

2. a) The following are the measurements T made on a curve recorded by the oscilograph  

           representing a change of current 1 due to a change in the conditions of an electric   

            current.                                                                                                                                          [7M] 

T 1.2 2.0 2.5 3.0 

I 1.36 0.58 0.34 0.2 

            Using Largrange’s formula, find I at t = 1.6. 

         b) Find a positive root x-cosx =0 by bisection method.                                                        [7M]     

Section-II 

3. a) Evaluate 
1

0
1

dx
by

x  (i) Trapezoidal (ii) Simpson’s one –third rule.                    [7M]     

b) Fit a second degree parabola to the following data:         [7M]     

x 0 1 2 3 4 

F(x) 1 1.8 1.3 2.5 6.3 

OR 

4.  a) Solve the following using R-K fourth method ` , (0) 2, 0.2y y x y h     find y(0.2).  [7M]        

      b) Fit a curve of the form bx
y ae  to the data                                [7M]     

 

 

Section-III 

5.  a) Expand ( ) ,
x

f x e x      as a Fourier Series. Derive a series for 
sinh


                 

[7M]     

      b) Find the Fourier series in  ,   for the function  

 

1
0

2
( )

1
0

2

x for x

f x

x for x

      
     


  

OR 

 

 

x 5 6 9 11 

y 12 13 14 16 

X 0 1 2 3 

Y 1.05 2.10 3.85 8.3 



6. a) Find Fourier coefficient an for fሺxሻ = xଶ in ሺ0,2ሻ                           [4M] 

        b) Obtain the Fourier Series expansion of f(x) given that  2
( )f x x   in 0<x<2   

                    and  deduce the value of 
2

2 2 2

1 1 1
.

1 2 3 6


    

                                
[10M]    

 

       
Section-IV 

7. a) Solve pଶ + qଶ = 4pq.                         [7M]     

       b) solve the partial differential equation xଶ pଶ + yଶqଶ = zଶ                        [7M]     

OR 

8. a) Form the partial differential equations by eliminating the arbitrary functions.                                                    iሻ z = fሺxଶ + yଶሻ   iiሻ z = yfሺxሻ + xgሺyሻ       [7M]   

         b) Solve    2 2
2 .z yz y p xy zx q xy zx                                       [7M]     

   

Section-V 

9.  Solve  by  Laplace transform 

        
dయydtయ  + 2  

dమydtమ  - dydt  - 2y =0, y (0) =1, y′ሺ0ሻ = y′′ሺ0ሻ = 2            [14M] 

OR 

10.   (a)  Find  L−ଵ  { S+ଵሺSమ  + ଶS+ଶሻమ}                                                                                [5M]   

         (b)  Find the Laplace transform of   e−ଷt (2cos5t - 3sin5t)                         [5M] 

          c)  Find the Laplace transform of   teଶt sin3t                                             [5M] 
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            from each section and each question carries 14 marks.  

 

Section-I 

1. a)Using Newton Raphson method find the square root of a number    [2M] 

     b) Using bisection method ,find the negative root of ݔଷ − Ͷݔ + 9 = Ͳ correct to two  

          decimals           [12M] 

       

OR 

2.  a) Using appropriate interpolation formula ,find y(8) from the following table     [7M] 

x 0 5 10 15 20 25 

y 7 11 14 18 24 32 

       b) A curve passes through the points (0,18) ,(1,10),(3,-18)  and (6,90).Find the slope of  

           the curve at x=2                 [7M]                                                                                   

 

Section-II 

3.  a)  Derive normal equations for fitting a straight line                                                   [4M]  

b)  Using Modified Eulers method find y(0.2 ) y(0.4 )with h=0.2,given that 
𝑑௬𝑑௫=x + siny,  

      y(0)=1            [10M] 

         OR 

4.  a) Evaluate ∫ ଵଵ+௫ଵ଴ dx by using trapezoidal , simpson’s 1/3,Simpsons 3/8  rule     [7M] 

      b) Fit a parabola of the form ݕ = ଶݔܽ + ݔܾ + ܿ                 [7M] 

x 1 2 3 4 5 6 7 

y 2.3 5.2 9.7 16.5 29.4 35.5 54.4 

 

Section-III 

5.  a) Find the Fourier series of period 2  for the function
2

( ) ( , )f x x x in     . 

           Hence deduce the sum of the series 
2

2 2 2

1 1 1
.

1 2 3 6


    

 [7M] 

    b) Find the half – range cosine series for the function  in the interval   

        and  show that         [7M] 

 

OR 

   2
1f x x  0 1x 

 

2

2

1

1

82 1n n












6. Find the Fourier expansion of f(x) = xcosx in 0<x<2                  [14M] 

  

Section-IV 

7.  a) Using the method of separation of variables solve Ͷ 𝜕௨𝜕௫ + 𝜕௨𝜕௬ =  given ݑ͵

ݑ            = ͵݁−௬ − ݁−ହ௬  Where x=0         [10M] 

     b) Form the partial differential equations by eliminating the arbitrary functions.       [4M] 

         
 2 2

( ) ( ) ( ) ( )i z f x y ii z yf x xg y   
 

 

OR 

8. a) Solve by charpit’s method  ݔ݌ + ݕݍ =  [7M]                                                          ݍ݌

     b) Solve 
௫మ௣ + ௬మ௤ =  [7M]                                                                                                               ݖ

               Section –V 

 

9.  a) Show that ∫ .ଶ݁−ସ௧ݐ ݐ݀ ݐʹ𝑖𝑛ݏ =  ଵଵହ଴଴∞଴                                                                 [4M] 

     b) Using the Convolution theorem find 𝐿−ଵ { ௦ሺ௦మ+𝑎మሻమ}                                                         [10M] 

 

OR 

10.  Solve by Laplace transform 

      
𝑑య௬𝑑௧య + ʹ 𝑑మ௬𝑑௧మ − 𝑑௬𝑑௧ − ݕʹ = Ͳ , ሺͲሻݕ = ͳ , ሺͲሻ′ݕ = ሺͲሻ′′ݕ = ʹ      [14M] 
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Section-I 

1. a) Find a root of an equation 3x = cosx + 1  using Newton Raphson Method.              

          b) Find a root of an equation  sinx = 1 using Regula Falsi  Method.            [7+7M]                                

 

OR 

2. a) Find f(22) from  the following table using Gauss forward formula                                      [7+7M] 

x 20 25 30 35 40 45 

y 354 332 291 260 231 204 

         b) Find y (10), Given that Y (5) = 12, y(6) = 13, y(9)= 14, Y (11)=16 using Lagrange’s   formula 

                

Section-II 

3. a)   Fit a parabola  to the data given below                                                       [7+7M] 

x 1 2 3 4 5 

y 10 12 8 10 14 

       b)  Find the value   using Simpsons 3/8 rule 

                                                                                                OR 

 

4. a) Solve 2
` , (0) 1,y y x y    by Picard’s method upto the third approximation. Hence find the  

               value of f(.1), y(0.2).                                                                                                             [7+7M] 

                                           

          b) Use Eulers method of find y(0.1),y(0.2) given    , 3 2
, 0 1

x
y x xy e y

  
 .
 

 

Section-III 

 

5. a) If f(x) = cosh ax expand f(x) as a Fourier series in ,  .                                                        [7+7M]                                          

           b) Obtain the half-range sine series for    in 0,
x

f x e   

                                    

                                                                                 OR 

 

 



6. a) Find the Fourier series of period 2  for the function 2
( ) ( , )f x x x in     . 

               Hence deduce the sum of the series 
2

2 2 2

1 1 1
.

1 2 3 6


    

                                     [7+7M]
                               

          b) Find half- range Fourier sine series for   0 1f x ax b in x    .                                                                                 

         

Section-IV 

7. a)Form the partial differential equation by eliminating the constants from                                 

                 2 2 2 2
cotx a y b z      where   is a parameter      [7+7M] 

          b) Solve the partial differential equation 2 2 2 2
1x p y q   

OR 

8. Solve the equation  by the method of separation of variables [14M] 

Section-V 

   9. a)Find Laplace transform of (i)  3
2cos5 3sin5

t
e t t
   (ii)  3 2

sin
t

L e t
                           [7+7M] 

       
b)State and prove second shifting theorem 

                

OR 

10. a) Find 1

2

3

10 29

s
L

s s

  
   

                                                                                       [7+7M] 

         b) Using the convolution theorem find 

 
1

2
2 2

s
L

s a


  
 

  
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Section-I 

1. a) Prove E▼ =∆ =▼E            [2M] 

              b) Find a positive root of the equation by iteration method: 3x = cosx+1 correct to 3- 

                    decimal places                                                                                                              [6M] 

              c) Using Lagrange’s interpolation formula, find y (10) from the following table.  [6M] 

                                                                                                    

 

 

(OR) 

2. a) Use Gauss forward interpolation formulae to find f(22) from the following   [7M] 

x 20 25 30 35 40 45 

F(x)                                      354 332 291 260 231 204 

 

               b) Using bisection method, find the negative root of
3

4 9 0x x             [7M] 

Section-II 

3. a) B y the method of least squares, find the straight line that best fits the following data  

                                                                                                                                                             [7M] 

          x             0            5            10          15            20           25 

        F(x)            12           15          17           22           24           30 

 

               b) Evaluate ∫ ሺ௦𝑖𝑛𝑥𝑋 ሻ ݀ݔ𝜋଴  by dividing the range into 6 equal parts using  

                    ( i ) Trapezoidal rule                             (ii) Simpson’s 1/3rd rule                                 [7M] 

(OR) 

4. a) Solve 2
` , (0) 1,y y x y   by Picard’s method up to the third approximation. 

                   Hence find the value of y (0.1), y(0.2).                                                                       [7M] 

               b) Solve the following using R-K fourth method ` , (0) 2, 0.2y y x y h                [7M] 

                    find y(0.2). 

Section-III 

5. a) Expand   ax
f x e in Fourier series in 0<x< 2                                         [5M] 

              b) Obtain the Fourier Cosine Series for f(x) = x sinx, 0 < x <  𝜋  and show that    

 

                    
ଵଵ.ଷ − ଵଷ.ହ + ଵହ.7 +  … … =  𝜋−ଶସ                          [9M]          

(OR) 

 

              X              5               6             9               11 

              Y             12             13           14               16 



6. a) Expand f(x) = cosx for 0 x   in half range sine series.                         [6M] 

              b)Find the Fourier series of periodicity 3 for  f(x) = 2x-x2 in 0 < x < 3             [8M] 

 

                                                                           Section-IV 

 

7. a) Solve the partial differential equation p√ݔ + 𝑞√ݕ =  [4M]                              ݖ√ 

              b)  Solve z (p2-q2) = x – y                                                                                     [4M] 

              c) Solve by the method of separation of variables 2xzx – 3yzy = 0                     [6M] 

 

OR 

8. a) Solve z2 = pqxy by Charpit’s method                                                               [7M] 

              b) Solve p2+q2 = x2+y2                                                                                           [7M] 

 

Section-V 

 

9. a) Find the Laplace transform of Sin2t.cost                                                 [2M] 

               b) Find 1 4

( 1)(s 2)
L

s

  
                              [2M]

 

                b)  Using Laplace transform, evaluate ∫ ௧∞଴−݁ݐ  [10M]                                     ݐ݀ݐ𝑖𝑛ݏ

                 

(OR) 

 

10. a) Find the inverse Laplace transform of  𝑒−𝜋ሺ𝑠+2ሻ௦+ଶ                                         [4M]                                        

 

             b) Solve 

 

using Laplace Transformation given that  

 

                 and              [10M] 

  

                 

 

 

 

 

 

 

111 11 1
2 2 0y y y y   

1
(0) (0) 0y y  11

(0) 6y 
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Note: This question paper contains of 5 sections. Answer five questions, choosing one 

question from each section and each question carries 14 marks.  

 

Section-I 

1. a) Define Root of an equation        [2M] 

       b) Find out the square root of 25 given a=2.0,  b=7.0 using Bisection Method.

 

[6M] 

       c) Find a real root of x + log10x – 2 = 0 using Newton Raphson Method.  [6M]
 

   

OR 

1. 

2.   a) If the interval of differencing is unity, P.T. ∆tan-1(n-1/n) = tan-1(1/2n2)    [2M]

         b) Using Gauss formula, find y(8) from the following table    [6M] 

x 0 5 10 15 20 25 

y 7 11 14 18 24 32 

c) A Curve passes through the points (0,18),(1,10),(3,-18) and (6,90). Find the slope of the  

      curve at   x=2.  

                  [6M] 

     

Section-II 

3. a) Find y(0.1) using Taylor’s Series Method given  that y1 = y2 + x        [2M] 

   

b) Evaluate ∫ ଵଵ+௫ଵ଴ dx by using trapezoidal , simpson’s 1/3, Simpson’s 3/8  rules.    [6M] 

   c) Using Modified Euler’s method find y(0.2 ) y(0.4 )with h=0.2,given that 
𝑑௬𝑑௫=x + siny,  

        y(0)=1    [6M]

 

    

OR 

4. a) Write the normal equations of a straight line        [2M] 

      b) Fit a second degree parabola to the following data:        [6M] 

             
: 0 1 2 3 4

( ) : 1 1.8 1.3 2.5 6.3

x

f x
 

     c) Compute y(0.1) and y(0.2) by R-K method of 4th order for the D.E.  y1 = xy+y2,  

      y(0)=1           [6M] 

x 0 1 3 6 

y 18 10 -18 90 



Section-III 

5. a) Write Euler’s formula.        [2M] 

          b) Obtain Fourier series expansion of  in  and deduce the  

               value of          [6M] 

         c) Express   2
f x x  as a Fourier series in  ,l l      [6M] 

         OR 

6.  a) If f(x) = x2 – 2,  -2 ≤ ݔ ≤ ʹ Find a0.       [2M] 

         b) Find the half range sine series for
 
fሺxሻ = xሺπ− xሻ, 𝑖݊ Ͳ < ݔ < 𝜋  Deduce that     

             
3

3 3 3 3

1 1 1 1

1 3 5 7 32
     


       [6M] 

         c) Find a Fourier series with period 3 to represent    2
0,3f x x x in 

  [6M]
 

Section-IV 

7. a) Form the partial differential equation by eliminating the arbitrary constants ࢇ ࢇ𝒏𝒅 ࢈  

             from z=ax+by+ab         [2M] 

        b) Solve ݔ݌ + ݕݍ =  [6M]                      ݍ݌

       c) Find the integral surface of which contains the  

             straight line x+y=0, z=1        [6M]

 

 

             OR 

8. a) Form a partial differential equation by eliminating the arbitrary function 

ࢠ                 = 𝒇ሺ𝟐࢞ +  𝟐ሻ         [2M]࢟

         b) Solve ݔଶ݌ଶ + ଶݍଶݕ = ͳ        [6M] 

         c) Solve ݖሺ݌ଶ − ଶሻݍ = ݔ −  [6M]        ݕ

Section-V 

9. a) Find 𝐿{cosh 𝑎ݐ sin 𝑎ݐ}        [2M] 

          b)Find L.T of  ݁−௧ ∫ ௦𝑖𝑛௧௧ ௧଴ݐ݀         [6M] 

         c) Use convolution theorem to evaluate     [6M]

 

OR 

 

 

 

   2
f x x  0 2x  

2

2 2 2

1 1 1

1 2 3 6


    

     2 2 2 2
x y z p y x z q x y z    

1

2 2

1

s( 4)
L

s

  
  



10. a) Find

1

2

3

10 29

s
L

s s

  
   

        [2M]

 

         b) Find the inverse Laplace Transform of 
2 2 2

1

( )s s a
     [6M]  

        c) Solve 
𝑑2௫𝑑2௧ + ݔ9 = ) using L.T. given x (0) =1, x ݐʹݏ݋ܿ

𝜋ଶ) = -1.   [6M] 
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                                                                              Section-I                                                                            

 

1 a) Explain about root graphically. 

       b) Derive a formula to find Cube root of N Using Newton Raphson method and  hence  

            find cube root of 15. 

        c) Find a root of an equation 𝑒𝑥 sinx = 1 using method of False Position. 

OR 

2.   a) 𝑃𝑟𝑜ݒ𝑒 ሺͳ + ∆ሻሺͳ − ∇ሻ = ͳ 

       b) Using Gauss back ward difference formula, find y(8) from the following table 32 24 18 14 11 7 ݕ 25 20 15 10 5 0 ݔ 

 

       c) A curve passes through the points (0,18),(1,10),(3,18) and (6,90). Find the slope of the  

            curve at x = 2. 

 

Section-II 

 

3.  a) Derive the normal equation to fit the straight line ݕ = ܽ +                                                                                                                       ݔܾ

      b) Solve the equation 2dy
x y

dx
   with the conditions y(0) = 1 and y`(0) =1.  Find y(0.2)     

           and y(0.4) using Taylor’s series method 

OR 

4. a) Fit a parabola ݕ = ܽ + ݔܾ +   ଶ to the data given belowݔܿ

x 1 2 3 4 5 

y 10 12 8 10 14 

     b) Evaluate 
6

2

0
1

dx

x  by dividing the range into 6 equal parts using Trapezoidal rule, Simpson’s  

           rule, Simpson’s 3/8th rules.            

 

                                              

 

 

 

 

 



Section-III 

5. a) Obtain the Fourier Series expansion of f(x) given that  2
( )f x x   in 0<x<2  

          and  deduce the value of 
2

2 2 2

1 1 1
.

1 2 3 6


      

      b) Find cosine and sine series for  ( ) 0,f x x in   

OR 

6. a) Find the Fourier series of period 2  for the function 2
( ) ( , )f x x x in     . 

          Hence deduce the sum of the series 2

2 2 2

1 1 1
.

1 2 3 6


      

     b) Find the half – range cosine series for the function  in the interval                          

           and Hence show that  

Section-IV 

7. a) Form the partial differential equation by eliminating the arbitrary functions       

         (2 ) (3 ).z f x y g x y     

     b) Solve the partial differential equation  

     c) Solve 
2 2 2
( ) ( ) ( )x z y p y x z q z y x      

OR 

8. a) Form the partial differential equation by eliminating the constants from              

             2 2 2 2
cotx a y b z      where   is a parameter. 

     b) Solve the equation 
𝜕௨𝜕𝑥 = ʹ 𝜕௨𝜕௧ + , ݑ ,ݔሺݑ Ͳሻ = 6𝑒−ଷ𝑥 by the method of separation of variables 

     c) Solve  

Section-V 

9. a) Find 
 2 3

4 2sin3 3cos3
t

L e t t t  
 

 

     b) Evaluate 
 sin3 cos2L t t t

 

             

     c) Find 
  

1

2 2

1

1 1
L

s s s


  
 

     

 

OR 

10. a) Using Laplace transform, solve 
2

2
2 5 sin ,

td y dy
y e t

dt dt

   given that y(0)=0, y1(0)=1.   

       b) Using the convolution theorem find 

 
1

2
2 2

s
L

s a


  
 

  
 

 

   2
1f x x 

0 1x 
 

2

2

1

1

82 1n n










2 2
x y

z
p q
 

 2 2
q y z z px 
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Time: 3 hours                          Mathematics- II                          Max Marks: 70 

Note: This question paper contains of 5 sections. Answer five questions, choosing one question    

            from each section and each question carries 14 marks.  
 

Section-I 

 

1. a) Find a real root of the equation 3 4 0x x    by bisection method.      [7M] 

b)  Find an approximate root of 10log 1.2 0x    by Regular False method.      [7M] 

OR 

2. a) Use Newton’s forward difference formula to find the polynomial satisfied by (0, 5),                 

    (1, 12), (2, 37) and (3, 86).                       [7M] 

  b) Using Lagrange’s interpolation formula, find y (10) from the following table       

    5 6 9 11

: 12 13 14 16

x

y
          

         [7M] 

Section-II 

3. a) Evaluate 
1

0
1

dx
by

x  (i) Trapezoidal  (i) Trapezoidal rule     (ii) Simpson’s rule  [7M] 

    b)  Fit a second degree parabola to the following data: 
: 0 1 2 3 4

( ) : 1 1.8 1.3 2.5 6.3

x

F x
            

      [7M]

 

OR 

4. a) Using Taylor series method, find an approximate value of y at x = 0.1, 0.2 for the  

      differential    equation ' 2 3 x
y y e   for y (0) = 0.     [15M] 

 

Section-III 

 

5. a) Find the Fourier expansions of f(x) = xcosx; 0<x<2 . [15M] 

OR 

 

6. a) Find the Fourier series of periodicity of 2( ) 2 , 0 3f x x x in x    .   [7M] 

  b) Expand the function f(x) = x as a Fourier series in (-π,π). [7M] 

 

       

 

 

 

 

 

 



 

 

 

Section-IV 

7.  a) Form a partial differential equation by eliminating a, b, c from
2 2 2

2 2 2
1

x y z

a b c
  

 [7M] 

     
b)  Find the integral surface of  2 2 2 2( ) ( ) .x y z p y x z q x y z    

   [7M] 
OR 

1. a) Solve (x + y) p + (y + z) q = (z + x)       [7M] 

       b)  Solve the partial differential equation 2 2 2 2 1x p y q      [7M] 

 

Section-V 

9.   a) Find 

1

2

3 8

4 25

s
L

s

  
            [7M]

 

      b) Find  
1

2

1

2 2
L

s s s


  
 

            [7M]

 

OR 

10. Using Laplace transform, solve 

2

2
2 5 sin ,td y dy

y e t
dt dt

   given that y (0) =0, y1(0) =1 

                      [15M] 


